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What is 30, 303, 333 written in words ?

A. Thirty million thfdesundred and thirty three
thousand thre® hufiiired and thirty

B. Thltty million , thme hundred and three
thousand three hundred and thirty three -

C. Three milfion three hundred and three
thousand three hundred and three

D. Thirty million threée hundred thousand three
hundred and.thiny three hundred

Given thata= 10, b=16.3 and ¢= 3.7, whatis
thevalueof b+c 7

a
A2
C.0 86

B. 4
D. 0.43

The area of a square plot of land is 2601 m?.
What is its perimeter 7 .
A . 51m B. 102m
C 65Cm D. 204 m

Mumbi had y shillings , Miriam had 10 shillings
more than Mumbi. if both of them had a total
of sh 120. How much money did Mirfam have?
Ash 55 B. sh 110

C.shB5 D.sh 76

Work out the following and give your answer
in decimal

1, +6%,

A 87/, B.68.75
C. 6875 B. 77,
Simplify the inequality
0.7r+0.3>49.3

Ar<70 B.r>7
C.r<7 D.r>70

An empty pick - up weighs 1.3t itwas loaded
with 40 cartons and in each carton , there
were 20- 500g packets of cooking fat. If the
mass of each empty carton was 25g, what
was the total mass of the loaded pick - up in
tonnes ?

A1T71t

C.1.701¢

B. 1.341
D.1.321¢

11.

12.

13.

14.

A 540

Waiganjo borrowed sh 15000 from a lending
financial institution that charged a compound
interest rate of 10% p.a. How much did he pay

back after two years 7
A.sh 18000 B. sh 18150
C. sh 3000 D. sh 15250

Awatch IosesSseoondsforeveryhour ftwas
set right on Wednesday at 12.20 pm, what
time will it show on Saturday at 12.20 pm ?-
A.12.14 pm B.12.26am

C. 12.26 pm D. 12.14am

~

10.

Kosgey bought two trousers for sh1584 after
getting 12% discount .Calculate the marked
price of each trouser ?

A.sh 1800

B.sh 696
C.sh 1294
D. sh 800

The capacity of a cylindrical tank is 138. 6L If
it has a radius of 42 cm, how deop is the tank?
A.2.5¢cm B.250cm

C.25cm D.50 cm

The circumference of the figure below i is 66
cm, Calculate the diameter

.

A 14 cm
C.7¢cm

B. 28om
D.56em

The boundary between two sub ceunties on a
map measures 16 cm. If the actuai distance
is 24 km, what is the scale used on the mapin
ratio form? '
‘A. 11150000
C.1:1500

B.1: 15000
D. 12150

Achurch has 675 zdult members. The ratio
of men towomenis 4 : 5. What is the number
of men in the church?

. B.575

C. 300 D. 337
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15.

16.

17.

18.

16."

21.

At

The price of a coffee table was sh 3500 . lithe
pric=was increased in the ratio of 5 ; 2, what
was the increase in shillings ?

A, sh 8750 B.sh 2500

C. sh 1400 D. sh 5250

Five ladies can make 300 chapatis in one
hour. How many more such chapatis can six

ladies make in one hour ?
A 360 B. 60
C.50 D. 250

Atrader had 350 trays of eggs .He sold 70
trays on a certain day. What is the percentage
decrease in the number of trays ?

A. 20% B. 80%

C.25% D. 75%

What s the difference between the total value
of digit 8 and 9 in 623940 7

A. 581000

B. 599100

C. 600 900

D. 899100

Work out

(272+2)x(131+0.81)
0.34x4.8

A 18 Y B.16°

C. 160 ¥D.0.16

What s the sum of the rigxt 2 numbers in the
sequence

0,2,5,10, 17, 3

A.69
C.17

B:3
D. 28

A school has 840 pupils, One day 42 pupils
were absent .What fraction of the pupils were
present on thatday ?

B. Wl”

., D. ',

22.

24,

C. 1920

An open cylindrical water tank has a diameter
of 40 m and a height of 25 m. Find its total
surface area ?( n=3.14 )

A 5652 B. 6594 m*
C.4082m? D. 4396 m*

Calculate the total lengttj of the wire that is
required to fence the piece if land drawn
below using one strand of wire

28m

A. 103 m B. 114 m
C.86m D. 100m

The figure drawn belowis a rectangular water
tank that is a quarter full of water

How many cubic metres of water are required
to make the tank full 7
A. 2880 B. 3840

D. 960

A phone dealer bought two phones atsh 7000
and paid sh 200 for transport to his shop.
Later he sold the phones at sh 6745, What

was his percentage loss 7'
A 3.6% B.0.8%
C.5.0% D.6.5%
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26. The pie-cart below shows the favourite! 30. Maina bought the following items from a
beverages during a wedding party certain shop '

55 2 - kg of sugar @ sh 80 per kg

6- 500 g packet of soya powder at sh 100

3 litres of cooking oil for sh 600

3 - 1 litre bottle of juice atsh 100~ —— - _

Soda
\/}108°

D

80°] 64°
Coffee |Porridge

If she gave the shopkeeper 4- five hundred
shilling notes, how many twenty shilling coins

did she recelve as balance 7
A 34 B. 17
C.23 D1
If tea was taken by 180 people, how many| 31. Kamau a rectangular piece of land that was
people attended the party ? 120 m iong. He planted fiowers round the land
A. 800 B. 360 atan interval of 10 m apart, How many flowers
C. 720 D. 1080 did he plant if the width as 20 m less than the
width?
27. The table below shows the size number of A. 44 B.22
shoes worn by 20 pupils in a std 8 class C.23 D. 45
Size No . Tally marks Total
) l 3 32. Construct triangle ABC with AB=8¢m, BC
= .lll = = 5.5 cm and angie ABC = 55°, Measure AC
11 0 7 A.8.7cm B.7¢cm
12 HF “T ] C. 6cm J.Bem
L | i 33. Find the missing length in the triangle below
Find the sum of the mode and median of the
size numbers : -
A 22 B.24 26¢cm —
C.23 D. 15 -

28. Amal is 0.02 hectometres tall. Juma is 18
decimetres tall and Dawin is 0.03 decametres
taller than Amal. Find the sum of their heightin

metres 10cm
A59m B. 4.1m
(o 3.8m D.B81m
’ A. 13cm B, 12 em

29. .Nyaklo 'sold & piles of mango &t sh 200 per
_ pile, If she make a profit of 25% , what was the

buying price of each mango If hehad bought]. 54 \whatis the product of the sdges and verices

C.24cm D. 30 em

forty mangoes? ina triangular based prism ?
‘A.sh22.50 A.45. B.30
8 sh 24, 00 C.24 D. 54
Csh5.0
. D. sh25.00
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